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65 con = sqlite3.connect(inifile.get('settings', 'dbfilename'),isolation_level="EXCLUSIVE') "10.00 B B5K @ @', 'ﬁﬂ]"”*ﬁ
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69 record_data.append(row) '13.00 & 85K @ @', "HIET
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71 except Exception as e: Firw [CRED . S7KPIRE. \niEE

72 print(e) 10.0~12. omlf #l~ PEE 1. \n

73 if con: con.rollback() FEE12.4~12 8m(T HERY E1E. \n
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75 finally: $.t, -1, '15.35 BOEE BELX
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1.16 1.46 4 106 10 7 10 1.16 1.46 4 105 10 7 10
2.152.45 6 109 10 14 10 2.152.456 109 10 14 10
3.15 3.45 710 11 10 15 10 3.15 3.45 7 10 11 10 15 10
4,15 4.45 910 10 10 11 10 4,15 4,459 10 10 10 11 10
0.165.45 6 108 10 9 10 5.165.45 6108 109 10
6.15 6.45 8 109 10 11 10 6.15 6.45 8 109 10 11 10
7.107.465 105108 10 7.157.455 105 108 10
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9.16 9.45 3 109 10 9 10 9.15 9.45 3109 10 9 10
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12.15 12.45 10 10 14 10 14 10 12.15 12.45 10 10 14 10 14 10
13.156 13.45 8 10 10 10 10 10 13.16 18.45 8 10 10 10 10 10
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